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AL Lt porw wse (o), (8, o0d) (STR), as follovss

Ezo-mFlg.. Somsosc e know that
s()=500, J(0)=|0,R(0)=0
(Hn'u denales the valye J ’ o= O.OC))J.) [)’-"O)ll.

of S ot time £=0)
(0) Redict S@), T(R), RR).

Solutow . Lef; start wﬂll\ S. We have

()= S(0)*4$ (by (=) obove)
= 5(0)+S'(0)-24 (hy (6) obove)
= S0+ (- S(0) - T(2)) - A1 (by (SIR))
= 500+ (-0.001 500 '.10)'& (Plga m values)
= 500-10=490.

We do R next (Lowse ds cosier than I):
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T()= 510-5(a)-R@) = §I0-490-4 =86.

SUW\MM\-‘.' accdrtqm to the ABoVe. Moﬂe,l,
S()=490, T()= 16, R()=4
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(i) Use port () aboue o predick S(H), T(4), REA)

So!u{'loh. S(‘U: 5(&)"'45
=50)+S)4t
= 5+ (- a-5(2)-1(2))- 8¢
= 490 + (-0.001-490+16)- 2 plug in the values
=474 39 mmrmeg w Part (() obove
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SE)=474.33, TM=25.28, RMY)= [0Y.
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